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| F_ |A new glass has been designed by rotating part of a graph of a square root function about the
‘ axis containing the stem of the glass. (Assume the width of the stem to be zero.)

As illustrated in the diagram, the diameter of the lip of the bowl is 8 centimetres. The glass
stands 13 centimetres in height and the top of the stem of the glass is 5 centimetres high.

A decorative gold ring is to be painted around the bowl 11 centimetres from the bottom of the

glass, at a cost of 2 cents per centimetre.

‘ How much will it cost to paint the gold ring around the bowl?
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